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EEXER
- ZXEAEPEEE
1. f&:(1)¥r A(-1,0),B(4,5) KA y=ax’+bx+5 7,
- 0=a-b+5 ﬁ’q’:f%{a:_l
5=16a+4b+5 b=4
s I FIR T y =~ +4a+ 5
(2) 24 S s cor =28 acur WA DE=2EF,
-+ A(-1,0),B(4,5),
o G HZE AB BERIAA N y=x+1.
W D(x,—x"+4x+5) DU E(x,x+1) ,F(x,0),
o DE=—x"+4x+5-(x+1)= —x"+3x+4  EF =x+1,
s+ 3x+4=2(x+1)
fififs 2, =-1(F %) x,=2,
o DE=-x"+3x+4=-4+6+4=6,
(3) 2 —x"+4x+5=0,
f#1S v, =—-1,x,=5,
SR CIARER A (5,0).
H(2) AT HTEZR AB iFRAR y=x+1.
B G WAAFRA (0,m) , 5L E BJAAR N (n,n+1) W] 53
F A FRHN (1,0).
WA - Wk CEGF AT,

b



-. CF//EG,CF=EG,
m=n+1

"5-n=n

AR (0, ) A E s ).
IR, 3 PG, QE.

Y

A \\ \

70 PF; Q\C x
3

55 1

" GE//PQ ,GE=P( :2,

Ny

. WUiIE GPQE & VA7 1UihiE

- GP=EQ,

S GPYMQ=EQ+MQ,

o Bl GP+MQ RYfER/ N, AT EQ+MQ HIE SR/,

Ve E T » B RFR S B EBEE'M N EQ=E"Q, It
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I E'M 5 o 53 AT B Al 2 A Q)
s EQ+MQ ByiR/MEN E'M K.

.5 7
WS MAEMHLDF T/ H,» 5 E E’Jﬁé%ﬁ(z,z),

AR ()

7

B AR () A H R ()

13 5 9 7
s MH=—"->=4 HE'=_~(-—~)=8.
2 2 2 2

TE RIAMHE' W E'M=+/MH’ +HE” = 4.5,
o GP+MQ Wi/ ME R 4.5.
(1) WKL S.(0, 1) XRREHTE v FAGZE,
so1=07, —2ba<0,
" a=1>0, b=1(MEDH L),
s AR FRIR R y=at a4 1

(2)- MLk y=2"+bx+b* = (x+£) 2+3—b2,
2’ T4
PO R B x = —g,

DY bz—%,ﬂﬂ b=0 i,y B x BB TTRA

s M =0 B,y BUSR/IME, B 6*+6%+67 =21,

fEAF b=JTE b=—JT (5 2%);
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D% b3 b2 0y Bl ORI,

LY x=b+3 B,y BUSER/IME,
BI(b+3)*+b(b+3) +b° =21,
IR b +3b-4=0,

g b=-43 b=1(&F2%);

b
O b<—5<b+3,EI]—2<b<0 At

. b P 3b
Ha=- ity WS e/ IMEL y . =, =21,

RS b=+2./7 (& 3).

25 BPIR b WE T B4

(3)- 2 +dx+m=x"+ba+b> , H b=1,

S +3x+m—1=0,

BWAIIZE v =0 +3x+m—1, WIHIHILE ' FOXTFREH R EZR x =
3

- 5<0,

a=1>0,

B Oosa<1 ),y B o YR RTIIG R,

Y x=0 B,y B/ IME, B/IMEA m-1,

S.m—-1=0,

Som=1,

som BER/MEN 1.

3. (1) AR PR R TG AR PR (2.5,3.5)
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AT I RIBAN y=a(x-2.5)+3. 5(a#0) ,
i AR, 4 5 B(4,3.05)

AL BB y=a(x-2.5)°+3.5,

8 a(4-2.5)*+3.5=3.05,

3 a=-0.2,

s IR A y=-0. 2(x-2.5)%+3. 5;

(2)4 y=2.7,M]2.7=-0. 2(x=2.5)>+3. 5,

fiff5 x,=4.5,x,=0. 5.

BN S IEEREEC 4 m,

Sox=0.5,

/NIRRT NS NI BB ESAE 0.5 m LA A
RETE2S TP IR RK

(3) ek th 05, /N B Bk S L T A = FE A B m,

MR 0 BRAYEE R h+1. 75+0. 25=(h+2) m.
IR y=-0.2(x-2.5)7+3. 5 1 A,

S h+2=-0.2x(0-2.5)%+3. 5,

f#45 h=0.25,

BRI /N B b 1 B R SR 0. 25 m.

MR R R B R R R, S Eks s I LIRS
PR AR ARR]

s /NI B LR TR R, ks sh i 2 RiA X
M y+0.25=-0. 2(x=2.5)*+3. 5,

Bl y=-0.2(x-2.5)+3. 25,

24 y=3.05 Bf,-0. 2(x-2.5)°+3.25=3. 05,



15 2, =1.5,x,=3.5,

cNHSEERKCTFIEE N 3.5 m 5K 1.5 m B, 0T DI
S ABRZIARTE 4-3.5=0.5 m 8 4-1. 5=2. 5 m( A%
HHE,EE),

o/ NTRE A TR AR MBS Z B RTE 0. 5 m.
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AR JLAERLEE S

4. . (1) WEEQ,EH BD,

" AACB 5 AECD #REFEMHM = Ex4

e,

- LECD=/ACB=90°, L E= /£ ADC

=45° EC =DC,AC = BC, AC* + BC*

=AB*,

- 2AC* =AB’,

» L ECD-/ACD= £ ACB-/ACD,

-. LACE= £ BCD,

D

C B
o 4 R E O

AC=BC

TENAEC F1ABDC ¥ 2 Z ACE= £ BCD,
EC=DC

-. NAEC=2 ABDC(SAS)

. AE=BD, / E=/BDC=45°,

. ZBDA= £ BDC+ /£ ADC=90°,

TE RtAADB W1 AD*+BD* =AB’ ,

s AD*+AE* =2AC7

(2) IR KD, &4 BD , % AD 38 BC T4 0,

" AACB 5 AECD #8245 EH M — A E

e,

-. LECD= £ACB=90°,EC=DC,AC =

BC,AB=./CA>+CB® ,DE=./CE’+CD* , 4 KR
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+ CA=CB=3.2 ,CE=CD=2.2,
. AB=6,DE=4,
"+ L ECD-/ECB= /ACB-/ ECB,

. LACE= /£ BCD,
TENAEC F1IABDC W,

AC=BC

/ACE= £/ BCD,

EC=DC

. NAAEC2 ABDC(SAS)
. AE=BD, / CAE= £ CBD,
"© LACB=90°,

. L CAO+ L A0C=90°,
"+ LAOC= £ BOD,

. /. BOD+ /. CBD=90°,

. ZBDO=90°,
f Rt AABD W ,AB* =AD*+BD* =AD* +AE* ,AD = AE+DE
=AE+4,

6> = (AE+4)>+AE",
1S AE=./14 -2 B AE=-/14-2(& ),
cERBLAE K R/14-2;
(3)-- AACB 5 AECD #3255 H 1 =fE,
. LECD=/ACB=90°, /L E= / ADC=45° EC=DC,AC
=BC,
» LECD-/ACD= £ ACB- /. ACD,
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- LACE= /BCD,
1E AAEC MIABDC i,

AC=BC

£/ ACE= £ BCD,

EC=DC
. AAEC2 ABDC(SAS)
- AE=BD, /E= /BDC=45°,

. L BDA= £ BDC+ /£ ADC=90°,

1 1
* S = AD » BD=_AD - AE,

 CE=CD=2J2,/ECD=90°,

- DE=\/CE*+CD* =4,
- DE=AE+AD,
-~ AE=4-AD,

1
5 S =5 AD - (4-AD)
.
=——AD*+2AD
2
1 2
=—(AD-2)*+2,

. _l<0
. 2 ,

M AD=2 B, AABD BYTE A Fe RAE, S RAE R 2.
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5. (1)iERA: W@ KD, % EH 2 BD T4 M,FG %8 BD T

HN,
M3 2 A M, EH 3 35 OF 4y BI,
FG T4 DJ,
. L. BME= £/ DNF=90°,
I ABCD 2357
. AB = AD, LABD = /L ADB =

1
o (180°-£BAD),

V- BE=DF,
. AB-BE=AD-DF,
B AE=AF,

A
E F
H G
C
555 ElfRE@

1
+ LAEF= LAFE=—-(180°~ LBAD),

1
" LABD=LADB= LAEF= LAFE=—_(180°~ LBAD) ,

. EF//BD,

.. LBME= £ HEF=90°,

[ 3 A 4%, L EHG = £ HGF =
/ GFE=90°,

. Uil EFGH 56 |

(2) & W @), iEH: AC %
BD T /5 0,1% EH %¢ BD T 5.
M,FG3Z BD Fri N,

A
EZUNF

- |

- ~o
i ~

Bl L
: ;
|

\M]

c
it

=
JZS N
®

[\
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VUihie EFGH 2 1E 5T,
. EF=EH,
P ABCD 225 ,AB=4, £ BAD=120°,
-.BD=2B0, / BAC= /. ABC= £ ACB=60°,
X EH//AC,
. L BEH = £ BAC = £ ABC = /. BHE = 60°, OB = AB -

3
sin60° = 4X§ =2./3 ,

.. BE=BH=EH=EF ,BD=2B0=2x2./3 =43,
W EF=x,)| EH=BE=x ,AE=4-x,

. EF//BD,
. NAAEF“~ AABD,
AE_EF 4-x x

il | ML
A" 4 43"

fiffsF x=6-2.3,
EF=6—2J§,
SmﬁﬁﬁEFcH =( 6_2ﬁ)2 = 48—24&;

(3) & WfR K3, %EH: AC 22 BD T 55 0,1% EH 3 BD
TFHEM,FG3E BD T N,

A
BA=BC=52,DA=DC= 5 £
0 | T
\\ ] N - —
33, sy
. BD I 14y AC, - G
. LAOB = LAOD = 90°, AC 45 BifEE®



=20A.
B OB=x 0] OD=15-x,

NWIA (52)=x"=(5/5)>-(15-x) 7,
g x=5,
. OB=5,0D=10,

- AO=JAB*-0B* =./(5/2)%-5* =5,
- AC=204=2x5=10.
VUshit EFGH 2iE 77,
. EF=EH.
¥ EF=EH=m,

wEF AE EH BE

gi e o AR B DR
ST = g AC AB’

EF EH _AE BE

c =1
BD AC " AB AB J
L m m Y
1510
i3 m=6,
.. EF=EH=6,

oBM EH
gi a2 B
H il 7 15 Rl

BM 6 , .
ST —ﬁ”F'BM 3.

H¥rZ&nH,BM=IM=3,
. BI=BM+IM=3+3=6,
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[FPEATAS DJ=12,
. IJ=BI+DJ-BD=6+12-15=3.
. (1)##.AE=HG.
M - DURIE ABCD 2T,
. £ BAD=90°
M BERE A H, L EFG= £ AFH=90°,
. LAFE= / HFG,
o A4y £ BAD,

1 1
s LBAI= LDA]:ELBAD:?X90°=45°,

" LAFH=90°,
- LAHF =/ DAI= / BAI=45°, . AF=HF.
. ANAEF<2 AHGF(ASA) ,

. AE=HG,

(2)VERR ;- PUIE ABCD ZHIE,

-. ZBAD= /£ ABC=90°,AD//BC.

Mo A4y £ BAD,

1 1
s LBAI= LDA]:ELBAD:EX90°=45°,

.. LAIB= / DAI=45°,

.. L AIB= / BAI,

. AB=IB.

- AF=AE,

- AF=IE,/ AEF= / AFE,
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HERs I, £ EFG=90°,
.. LEFG-/AFE= £ ABC- L AEF,
. LAFG= LIEF,

£ GAF= L FIE

1E ANAGF FIAIFE 1 JAF=1IE :
L AFG= L IEF

o ANAGF2 AIFE(ASA) ;

(3) & LfiR &l - LAGF= L AFG,

- AG=AF.

5(1) A, /13 AAEF2 AHGF,
- AE=HG, 5
Al V4% £ BAD, L y
. L BAI= /. DAI=45°, 55 6 W]
ARG, L AFH=90°,

. LAHF=45°,

. AAHF NEFIEE M = MY ,AF=HF,

o AH=.2AF ,

AE HG AH-AG J2AF-AF
_~_E:§: AFG:fAF =/2-1,

AE,, ..
..AFH@{EjJﬁ—l.

A G HD
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